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QUESTION 1

A client has a VMware vSphere environment with several MS SQL servers currently running that provides back-end
Web services. You are asked to prepare a disaster recovery solution that would minimize downtime if any of these
virtual machines become corrupted and unavailable.

Which solution will satisfy the requirement?

A. Use the NetApp SnapCenter software to take a complete backup of the entire virtual server that is hosting the
database.

B. Use the NetApp Virtual Storage Console snapshot function to take a complete backup of the entire virtual server that
is hosting the database.

C. Use the NetApp SnapCenter software to take a consistent backup of the database and operating system, followed by
another Snapshot copy of the virtual server.

D. Use the NetApp SnapCenter plug-in for VMware vSphere to take a complete backup of the entire virtual server that is
hosting the database.

Correct Answer: D

QUESTION 2

A client has a primary data center that is located in a coastal area where the forecast is calling for a Category 5
hurricane to make landfall in three days. The client\\'s data is protected using NetApp SVM SnapMirror replication
technology with identity-preserve that is enabled. The data is mirrored to a destination cluster outside of the affected
area. The client has scheduled a controlled maintenance window for tomorrow to ensure that dependable operations are
maintained.

Which three steps must be taken to accomplish this task? (Choose three.)

A. You must break the SnapMirror relationship on each individual volume between the source and the destination
clusters.

B. You must configure the destination SVM volumes for data access.

C. You must reboot each server in your infrastructure so that they can access the data from the destination volumes.
D. You must break the SnapMirror relationship between the source and the destination SVMs.

E. You must stop the source SVM before activating the destination SVM.

Correct Answer: BDE

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow-
dap%2FGUIDC4F0D584-6C27-4EBA-8DF0-5F795BAD226A.html

QUESTION 3

You want to implement NetApp Volume Encryption on your ONTAP 9.3 cluster production volumes. What are two ways
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to accomplish this task? (Choose two.)

A. Use OnCommand System Manager to edit the volume and enable encryption.
B. Use the vol move start command with the -encrypt-destination true parameter.
C. Use the volume modify command with the -is-encrypted true parameter.

D. Use the OnCommand System Manager "move volume" feature.

Correct Answer: CD

QUESTION 4

You have deployed a MetroCluster IP disaster recovery solution for cross-site protection and business continuity
operations.

In this scenario, which two statements are correct? (Choose two.)
A. Replication of storage data is performed over the iISCSI connections between the two sites.

B. Replication of storage data is performed over high-bandwidth dedicated links in the IP fabric and NVRAM over a high-
bandwidth dedicated FC fabric.

C. Replication of storage data is performed over a high-bandwidth dedicated FC fabric and NVRAM over high-
bandwidth dedicated links in the IP fabric.

D. Replication of storage and NVRAM data is performed over high-bandwidth dedicated links in the IP fabric.

Correct Answer:. AB

QUESTION 5

In a MetroCluster IP configuration, which two network ports must be connected to dedicated switches? (Choose two.)
A. the port associated with the cluster LIF

B. the port associated with the node management LIF

C. the port associated with the intercluster LIF

D. the port associated with the MetroCluster IP LIF

Correct Answer: AB

QUESTION 6

A customer wants to change a SnapMirror replication schedule to update more frequently. They have 25 GB of data per
update to be replicated along a single 1 Gbps Ethernet link.
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In this scenario, what is the minimum amount of time required between SnapMirror updates?
A. 20 minutes

B. 200 minutes

C. 3 minutes

D. 5 minutes

Correct Answer: A

QUESTION 7

To ensure enough bandwidth for other applications, you want to restrict all replication bandwidth on your destination
cluster.

How would you accomplish this task?

A. Using OnCommand System Manager on your source cluster, create a QoS policy on the source.

B. Using the ONTAP CLI, enable global throttling on the source cluster.

C. Using OnCommand System Manager on your destination cluster, create a QoS policy on the destination.
D. Using the ONTAP CLI, enable global throttling on the destination cluster.

Correct Answer: B

Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.pow-dap/GUID-BBEDC81C-23CE47FE-
A242-F39846A8DD7F.html

QUESTION 8

You are asked to verify that data stored in your disaster recovery site can be restored and is viable. Currently, you have
a NetApp SnapMirror relationship with a MirrorAllISnaps policy type that is enabled and is updating frequently.

What would be a nondisruptive method to carry out a detailed validation of your disaster-recovery strategy?
A. Use SyncMirror on the destination aggregate on the destination cluster, and validate the data.

B. Perform a SnapMirror reverse resynchronization to restore the data from the destination cluster to the source cluster,
and validate the data.

C. Break the SnapMirror relationship and validate the data.
D. Create a FlexClone volume of the destination volume on the destination cluster, and validate the data.

Correct Answer: B

QUESTION 9
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Click the Exhibit button.

Edit Snapshot Policy 3%
MName
Schedules
Schedule Name  Maximum Snapshot Copies to be Refained SnapMirror Label Add
hourly (3 =
™ Edit
daily 2 daily
Delete
weekly 2 weekly
Tell me more about Snapshot policies
Cancel

You have a volume that was configured a year ago using the default Snapshot policy that is shown in the exhibit. You
need to increase the number of hourly maximum Snapshot copies to retain only four copies.

Which additional action is needed to keep only four hourly Snapshot copies in this volume after modifying the
schedule?

A. Delete two hourly Snapshot copies

B. Reapply the default policy to the volume
C. Modify the volume guarantee

D. Modify the Snapshot reserve.

Correct Answer: A

QUESTION 10

What are three prerequisites for replicating an Element OS volume to ONTAP? (Choose three.)
A. SnapMirror must be licensed on the SolidFire cluster.

B. The ONTAP cluster must be running ONTAP 9.3 or later.

C. SnapVault must be licensed on the ONTAP cluster.

D. Enable SnapMirror on the SolidFire cluster.

E. SnapMirror must be licensed on the ONTAP cluster.

Correct Answer: ADE
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Reference: https://www.netapp.com/us/media/tr-4651.pdf
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